#include <icstream>
using namespace std;
struci node {

int val;

node* next;
};

int in() {
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node* head = new node,
node* current = head;
for(int i=0; i<z; i++) {
current->val = i+i;
if(i == 2) {
current->next = NULL;
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}

else {
current->next = new node;
current = current->next;
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void print array{int *ar, int num) {
int i;
for(i=%; i<num; i++) {
printf("%d *, ar[i]):

}
printf (" \n*)
}
void get_user input(int* ar, int num) {
int i;
for(i = ¢; 1 <'num; i++) {
printf (" Y & sy M) g
scanf (a7, &ar[l]),
}
}
int main
T dncetze = 0y Declacadions of
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int* array = NULL; )
print £ ("4 7 Yy, ks o shet
scanf (":d", &size); Ed sms?uo Hee Q.I&r:‘é ol site

L,——v Tovmel ynuﬁfw tebkes o num besr

printf("s¢g_\n*, size);
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array = (int*) malloc(sizeof (int) *size);
@i‘;‘“ M= ’ > size
e¢5°get _user input (array, size);
print array(array, size); reihﬂfns
free(array) ;
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s #include <stdio.h>
Z #include <stdlib.h>

struct node {
5 int wval;
S struct node* next;

}:
9 int main() {
struct node* head = (Slgru.c)\- wod ¢ "‘:) walloc CS‘"lQOC (ebruck “°°QQ'\)X')

struct node* current = head;

struct node* temp = NULL;

int i; .

for(i=0,; i<3; i++) {
current->val = i+}1;

in if(i == .2) {
19 current->next = NULL;
20 }
21 else { . .
z current->next = é{'f wck node ”') nalloe (sizeof (shruck V‘OJQDB p)
current = current->next;
}
}
current = head;
while(current != NULL) {
?ﬂ‘n\”c ( "Vl %d “, cwrrent —-?\10.1\ 3
y; current = current->next;
}

printf ("\n");

current = head;
while(current != NULL) {
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} Curanenk = Lﬁﬁx\)
head = NULL;

current = NULL;

return ;




